Just in time Costing
Speedy Company is producing the product A. The company controller would like to change the cost accounting system, moving from a traditional one (full costing approach) to JIT. In order to simply the cost system, JIT should be structured according to only 2 collecting points:

1. at the beginning of the production process (corresponding to the input of DM)

2. at the end of the production process.

Referring to the last year data, the controller would like to test the new approach:

· revenues: 4.000.000 euro
· cost of the goods sold: 2.200.000 euro

· DM costs are 30% full cost

· conversion costs are 70% full cost (conversion costs are homogenously distributed among the production process)

· administrative costs: 50.000 euro

· sales and marketing costs: 2% revenues

· other non manufacturing (period) costs: 20.000 euro

· sold quantity: 80% of the quantity that is completed in the year

· in the year 13.500 units were initiated, 12.500 completed, 1.000 are WIP at 20% of the production process as concerns conversion costs (MD are totally absorbed)

· at the beginning of the year there are no inventories and at the end of the year there are no DM inventories.

Questions:

· determine the Net Operating Margin and the value of inventories applying at first traditional full costing method and then JIT
· explain the reasons for any differences.   
